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Usa Multiplicative seasonal forecasting to predict Quarter 1 (A) in Year 3
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Bird feeder sales are 30 units per week, and the supplier charges $25 per unlt il " i
The cost of placing an order (8) with the supplier is $10. e !'u
Annual holding cost (H) is 26% of a feeder's value (ie 0.25 * 25$) , based on operatl ne *'*'
Weeks per year, .-mﬂ; i
what is the economic order quantity for the bird feeder M

+II |||F | [
A

'f g

A |'IJm..r Il

||...|‘-‘ '_I
il 'L N

IH Hitl i|||

§ | ||. | FJI | L]

|l||ln ”| ”|,

() @ 100 |
\ Vs ”TH h.| il 1 '.-'-
w® b, 7
A - 0 -
() o 120

() @8 66

Clear my cholce

sl e i | (o

il 'J|| IS

it

' (5 Lol | it il 1 LTt | II:'.L' '
. e R R i )
I ||||| II|||||l ||l.|||.u|il|||||||| pn'ﬂu"ui |I| r|[l ||III ||||"||‘I ‘h il I| |I I|||||| 1i|||| JL’FIHJFHHIM il'mu il | U S S .||'|I iU Al L ol IRL L flI}iIitﬂ L1




. Marked out of
1L.00

Y Flag | e
Scheduled
receipts
Projected
on-hand 200 0 0 F 0 0
inventory |

o Wik o

receipts | . | 7
IR .
releases | | ]

a. 120

Week

"

Finish att

b. 360
c.0
d. 400

® e. 240

Clear my choic:




weaeak &,
| e The nurmbers of arrivals for the past six weeks were as follows:
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The cost of placing an order () with the suppher is $10.

Annual holding cost (H) is 25% of a feeder's value, based on apemttﬂns 5 €

What is the annual cycle—~1nventory cost if bird feeders order in quantrtfes 5?2 :
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Demand for chicken soup is always 25 cases a day and lead time is always 4 days.

Chicken soup was just restocked, leaving an on-hand inventory of 100 cases. No backordars
currently exist.

ihere is an open order for 150 cases. What is the inventory position IP
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